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if (<expresion>) <statement>;
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if (<expresion>) <statement 1>;
else <statement 2>;
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if (grade >= 10) printf("Passed !“),
else printf(“Failed!”);
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if (<expression>) {
<statement 1> ;
<statement 2> ;

<statement n> ;
)
else {
<statement 1> ;
<statement 2> ;

<statement m> ;
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#include <stdio.h>
#include <stdlib.h>
#include <conio.h>
#include <math.h>

void main() { if (1a)
int a, b, c;

float x1, x2, delta;
clrscr();
printf(“Please enter a, band c : %);
scanf(*%d %d %d”, &a, &b, &c);
if (@a==0) {
printf(“*wrong equation!”);
exit(1) ;

}
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delta = b*b — 4*a*c;
if (delta < 0)
printf("No answer !”);
else if (delta == 0) {
x1 =-b / (2*a);
printf("There is one answer, X = %8.2f",x1);
by
else {
delta = sqrt(delta);
x1 = (-b+delta) / (2*a);
x2 = (-b-delta) / (2*a);
printf("There are two answers, x1= %8.2f and x2 = %8.2f", x1, x2);

}
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if (grade >= 18) printf("good!");
else if (grade >= 15) printf("medium!");
else if (grade >= 12) printf("rather weak!");
else if (grade >= 10) printf("weak");
else printf("failed!");
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if (a <Db)
if (c <d) <statement 1>;
@else <statement 2>;
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if (a<Db) if (a<b)/{

Cif (c <d) <statement 1>; if (c <d) <statement 1>;
else ; }

else <statement 2>; else <statement 2>;
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#include <stdio.h>
void main() {

}

int a, b, ¢, max;

printf("Please enter 3 numbers :");
scanf("%d %d %d",&a, &b, &c);

if (a > b)
if (@>c) max = a;
else max= c;
else if (b > ¢) max = b;
else max = c;
printf("Maximum is %d",max);
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B

— iﬂﬁe}(foo))

—— while [(<expression>) {
—<statement 1>

<statement 2>

- <statement n>

<next statement>
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#include <stdio.h>
void main() {

}

int i,number;

long int factorial;
printf("Please enter number :");
scanf("%d",&number);

factorial = 1;

I =1;

while (i <= number) {
factorial *=i;
| ++;

)

printf("Factorial of %d is %lId",number,factorial);
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#include <conio.h>

void main() {
char ch;

ch = getch() ;

while (ch 1= 13) {
if (ch >="a' && ch <="7")

ch -= 32;

putch(ch);
ch = getch();

}

)
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for (<expression1> ; <expression2> ; <expression3>) <statement>;
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. for (<expl>;<exp2>;<exp3>) {

—  <statement 1>
<statement 2>

| <statement n>

b

____ <next statement>
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<expl> ;

while (<exp2>) {
<statement>;
<exp3>;

¥
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int count;
for (count = 0; count <= 100; count ++)
printf("%d *,count);
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for (count = 0; count <= 100; count +=5)
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for (count = 100; count >= 0; count -=5)
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for (count = 0; count < 100 && sw==1; count ++)
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for (@a=0,b=100; b—a > 50; a++, b--)
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#include <stdio.h>

void main() {
int i, n, number;
int sum, max1, max2;
printf(“please enter n : %);
scanf(“%d",&n);

sum = 0;

maxl = max2 = -1;

for (i=0; i<n; i++) {
printf(“enter number : %);
scanf(*%d"”,&number);

sum += number;

if (number > max1) {
max2 = maxl;
max1 = number;

else if (number > max2)
max2 = number;
} //end for
printf("Sum = %d, Maximum 1=%d, Maximum 2= %d", sum, max1, max2);

}
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for (; i<100; i++)
for (i=0; i<100;)
for (; i<100;)
for (i=0; ;i++)
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o
<statement 1> ;
<statement 2> ;

| <statement n> ;

» while (<expression>); ___ gyise (=)
<next statement> ; .
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char answer;

do {
printf("Do you want to continue (y/n) ?");
answer = getch();

} while (answer !="y' && answer !="n") ;
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#include <stdio.h>
void main() {
int aCount, bCount, cCount, dCount, n;
char grade;
aCount = bCount = cCount = dCount = n = 0;
do {
printf("Enter grade (Q for Quit) : ");
grade = getch() ;

n++;
if (grade == "A") aCount ++;
else if (grade == 'B") bCount ++;
else if (grade =="'C') cCount ++;
else if (grade == 'D") dCount ++;
else if (grade =='Q") n --;
else {
printf("Wrong grade, try again.\n");
n--
by
} while (grade '='Q" ) ;
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printf("Statistics :\n");

printf("Grade A :
printf("Grade B :
printf("Grade C :
printf("Grade D :

} // end main

%f percent\n", float(aCount)/float(n));
%f percent\n", float(bCount)/float(n));
%f percent\n", float(cCount)/float(n));
%f percent\n", float(dCount)/float(n));
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switch (<expression>) {
<expression> == <exp1> ? L, case <expl> : <statement 1> ;
<statement 2> ;

false <statement n> ;

<expression> == <exp2>'2—— Case <exp2> : <statement 1> ;
true <statement 2> ;
<statement n> ;
if there is no match — . default : <statement 1> ;
<statement 2> ;

<statement n> ;
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switch (point) {

case 1:

case 2 : printf("weak!\n");
break;

case 3 : printf("medium!\n");
break;

case 4 :

case 5 : printf("good!\n");
break;

default : printf("out of range!");
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#include <stdio.h>
void main() {
int aCount, bCount, cCount, dCount, n;
char grade;
aCount = bCount = cCount = dCount = n = 0;
do{
printf("Enter grade (Q for Quit) : );
grade = getch() ;

n ++;
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switch (grade) {

case 'A' :

case 'a' : aCount ++; break ;
case 'B':

case 'b' : bCount ++; break ;
case 'C':

case 'c' : cCount ++; break ;
case 'D':

case 'd' : dCount ++; break ;
case Q

case'q' : n--; break ;
default : printf("Wrong grade, try again.\n");

n__

} //end switch

} while (grade !='Q' && grade!='q’) ;

printf("Statistics

printf("Grade A :
printf("Grade B :

printf("Grade C

} // end main

A\n");
%f percent\n", float(aCount)/float(n));
%f percent\n", float(bCount)/float(n));

: %f percent\n", float(cCount)/float(n));
printf("Grade D :

%f percent\n", float(dCount)/float(n));
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#include <stdio.h>
void main() {
int numberl, number2, result;
char op;
printf("Please enter numberl operator number2 : ");
scanf("%d %c %d",&numberl, &op, &number2);

result = 0;
switch (op) {
case '+' : result = numberl + number2 ; break;
case ' : result = numberl - number2 ; break;
case "*' : result = numberl * number2 ; break;
case'/' : if (number2 != 0) result = numberl / number2 ;
else printf("There is no answer!\n");
break;
case '%' : if (number2 !'= 0) result = numberl % number2 ;
else printf("There is no answer!\n");
break;
default : printf("invalid operator!\n");

by
printf("Result = %d",result);

by
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while (<expression>) {

<statements ... >
true4#0)

if (<el<p1>) break ;

}

_ <next statement>
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#include <stdio.h>
void main() {

int i, n, number;

int sum, max1, max2;

printf("please enter n : %);

scanf(*%d",&n);

sum = 0;

maxl = max2 = -1;

for (i=0; i<n; i++) {
printf(“enter number : );
scanf("%d",&number);
if (number < 0) break; // this is the difference

sum += number;

if (number > max1) {
max2 = maxl;
max1 = number;

else if (number > max2)
max2 = number;
} //end for
printf("Sum = %d, Maximum 1=%d, Maximum 2= d”, sum, max1, max2);

}
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. while (<expression>) {

<statements ... >
true$#0)

if (<expl>) continue ;

b

<next statement>
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if (number < 0) break;
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if (number < 0) continue;
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